CURRICULUM COMPENSATION

I RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WASHINGTON MIDDLE SCHOOL AFTER SCHOOL TUTORING ACTIVITIES FOR THE 2023-24 SCHOOL YEAR ONLY, EFFECTIVE AUGUST 21, 2023, \$35.57 PER HOUR (23-24): (10-1100-0000-1341-498-4)

Dworak, Jeffery

II RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES DECEMBER 4, 2023 \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-0700-1341-531-4)

Frech, Jane Schultz, Shatoiya Grieme, Nathan Scott, Dawn

III RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES DECEMBER 7, 2023, \$35.57 PER HOUR: (10-2210-0700-1341-531-4)

Holler, Melinda	2.00 hours	\$71.14
Joyner, Abbie	2.00 hours	71.14
Kent, Kyle	2.00 hours	71.14
Komnick, John	1.25 hours	44.46
Scott, Dawn	2.00 hours	71.14
Sperle, Traci	2.00 hours	71.14

IV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION NEW TEACHER YEAR 2 FORUM #3 NOVEMBER 16, 2023, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0000-1341-564-4)

Altadonna, Lydia Kircher, Megan Daley, Melinda Krutsinger, Roxane Erickson, Carlie Lanter, Adam Fenner, Jaylan Mcvey, Zachary Riedle, Lindsey Floyd, Alaxandria Gilbert, Rachel Scheffers, James Gilmore, Elizabeth Schwappach, Hayley Groth, Christine Volk, Rachel Woodside, Alexis Harris, Nicolette

Johannes, Madison

V RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL FASTBRIDGE AND DATA ACTIVITIES DECEMBER 7, 2023, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-2600-1341-531-4)

Austin, Monique Jackson, Tamara
Deaton, Jacqueline Rotherham, Pam
Gallina, Maria Schukai, Melissa

Hunter, Brooke

VI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES DECEMBER 11, 2023, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-3100-1341-531-4)

Davis, Lacy Stout, Marsha

Mayes, Apryl

VII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES NOVEMBER 30, 2023, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-3100-1341-531-4)

Davis, Lacy Duke, Karen
Downs, Melinda Gebhardt, Emily

VIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES NOVEMBER 9, 2023, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-3800-1341-531-4)

Dold, Jena Stoll, Nicole

IX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES NOVEMBER 6, 2023, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-3800-1341-531-4)

Campbell, Melissa Nestler, Tena Durbin, Lori Roark, Heather

X RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES NOVEMBER 27, 2023, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-3800-1341-531-4)

Nestler, Tena

Roark, Heather

XI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES NOVEMBER 13, 2023, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-3800-1341-531-4)

Nestler, Tena

Roark, Heather

XII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES NOVEMBER 6, 2023, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-3800-1341-531-4)

Dold, Jena

Langen, Natasha

XIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES NOVEMBER 3, 2023, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-3800-1341-531-4)

Dold, Jena

Stoll, Nicole

XIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES NOVEMBER 27, 2023, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-3800-1341-531-4)

Dold, Jena

Langen, Natasha

XV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES NOVEMBER 20, 2023, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-3800-1341-531-4)

Dold, Jena

Langen, Natasha

XVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES NOVEMBER 13, 2023, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-3800-1341-531-4)

Dold, Jena

Langen, Natasha

XVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES OCTOBER MEDICAID BILLING ACTIVITIES DECEMBER 5, 2023, \$66.93 PER HOUR, 1 HOUR FOR A TOTAL OF \$66.93: (10-2210-6220-1342-000-0)

Dwyer, Rachael

XVIII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION AUTISM TOOL KIT PROFESSIONAL DEVELOPMENT NOVEMBER 27, 2023, FOR RATE SPECIFIED: (10-2210-0000-1341-564-4)

Moore, Corey	1.50 hours	\$62.99 Per Hour	\$94.49
Stepney, Kindall	1.50 hours	\$22.74 Per Hour	34.11

XIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES NOVEMBER MEDICAID BILLING ACTIVITIES NOVEMBER 1 THROUGH DECEMBER 5, 2023, FOR RATE SPECIFIED: (10-2210-6220-1342-000-0)

Baker, Audrey	4.00 hours	\$40.97 Per Hour	\$163.88
Brinkmann, Kristen	5.00 hours	\$62.15 Per Hour	310.75
Clark, Abigail	5.00 hours	\$53.68 Per Hour	268.40
Clark, Michelle	5.00 hours	\$75.75 Per Hour	378.75
Corley, Elizabeth	5.00 hours	\$66.93 Per Hour	334.65
Deatherage, Debra	4.50 hours	\$65.25 Per Hour	293.63
Farley, Nicole	5.00 hours	\$53.68 Per Hour	268.40
Fenstermacher, Lori	5.00 hours	\$75.75 Per Hour	378.75
Foster, Jennifer	4.00 hours	\$56.52 Per Hour	226.08
Groesch, Erica	3.25 hours	\$75.75 Per Hour	246.19
Hummel, Emily	5.00 hours	\$66.93 Per Hour	334.65
Kim, Whitney	5.00 hours	\$75.75 Per Hour	378.75
Kinkade, Taylor	4.00 hours	\$45.21 Per Hour	180.84
Marcum, Stacie	3.75 hours	\$56.52 Per Hour	211.95
Mcdaniel-Norton, Stacey	5.00 hours	\$74.69 Per Hour	373.45
Mitchell, Daj'Za	5.00 hours	\$42.38 Per Hour	211.90
Moore, Carolyn	4.00 hours	\$64.98 Per Hour	259.92
Naumovich, Amanda	5.00 hours	\$70.42 Per Hour	352.10
Plunkett, Cara	5.00 hours	\$53.68 Per Hour	268.40
Reitz, Laura	5.00 hours	\$64.98 Per Hour	324.90
Roe, Katie	4.00 hours	\$72.55 Per Hour	290.20
Rouland, Jill	4.25 hours	\$63.57 Per Hour	270.17
Sapetti, Camryn	2.00 hours	\$42.38 Per Hour	84.76

XX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR TITLE I NON-PUBLIC INTERVENTION ACTIVITIES NOVEMBER 27 THROUGH DECEMBER 7, 2023, \$32.26 PER HOUR, 15 HOURS FOR A TOTAL OF \$483.90: (10-3700-0000-1243-531-4)

Lamsargis, Kathy

XXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION FAIRVIEW CO-TEACH COLLABORATION NOVEMBER 16, 2023, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0000-1341-564-4)

Foster, Carmelita

Hustedt, Isaac

XXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE AND HIGH SCHOOL SCIENCE DEPARTMENT CHAIR MEETING DECEMBER 4, 2023, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

Allen, Laura	1.00 hours	\$35.57
Covey, James	1.00 hours	35.57
Fromm, Kelly	1.50 hours	53.36
Goff, Donald	1.00 hours	35.57
Troemper, Brett	1.50 hours	53.36
Vanderslik, Julie	1.50 hours	53.36
Walls, Peter	1.00 hours	35.57
Weller, Amy	1.00 hours	35.57
Westfall, Katrina	1.50 hours	53.36
Ziemba-Montavon, Tammy	1.50 hours	53.36

XXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION AVID DISTRICT QUARTERLY MEETING DECEMBER 5, 2023, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0000-1341-564-4)

Anderson, Emily Kleinertz, Larresa Bennett, Janene Kramer, Benjamin Bluhm, Wendy Kyes, Jessieca Cano, Michelle Lantz, Andrew Logsdon, Thomas Cox, Heather Creek, William Maggiore, Michelle Crum, Milena Midiri, Stefanie Moskus, Aliyah Crumrine, Carrie Cuzzort, Samantha Netznik, Melissa Patterson, Jami Dalby, Derry Davis, Holly Pochynok, Jason Davis, Lacy Quandahl, Erica Detmers, Erica Quarton, Michael Dukett, Jennifer Riech, Allison Ethridge-Galloway, Tiffany Riedle, Lindsey Freeman, Tina Rogers, Chenoa

AVID District Quarterly Meeting December 5, 2023, \$35.57 Per Hour, cont.

Hale, Yacira Rudd, Douglas Schoedel, William Harness, Amanda Harris, Nicolette Schudel, Mark Hockenyos, Karen Schweska, Lisa Hodapp, Brad Smith, Melissa Tarvin, Kandace Holt, Deanna House, Elizabeth Termine, Leslie Hummel, Emily Tribler, Kimberly Hustedt, Isaac Walk, Michelle Ingram, Cristi Walker, Amy Wallner, Jennifer Israel, April Jachino, Rachel Webster, Stephanie Wilson, Krista Jimerson, Angela Kelley, Sarah Wind, Elin Zaffiri, Alise Kent, Jena Kincaid, Jessica

XXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION AUTISM TOOL KIT PROFESSIONAL DEVELOPMENT NOVEMBER 27, 2023, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0000-1341-564-4)

Capps, Gail Marvel, Andrea
Dresch, Kim Milnes, Karen
Lenhardt, Kyle Swaggerty, Dawn

Lueking, Mary

XXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION ELEMENTARY SCIENCE BUILDING LEADER STIPEND GRADING PERIOD 1 AUGUST 17 THROUGH NOVEMBER 9, 2023, FOR RATE SPECIFIED: (10-2210-0000-1341-564-4)

Austin, Monique	1.00 Stipend	\$241.50
Lee, Sabrina	1.00 Stipend	161.00
Redpath, Sara	1.00 Stipend	147.00
Schurman, Jennifer	1.00 Stipend	80.50
Schweska, Lisa	1.00 Stipend	122.50
Wilson, Krista	1.00 Stipend	220.50
Wiseman, Melissa	1.00 Stipend	73.50

XXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION ELEMENTARY MATH BUILDING LEADER STIPEND GRADING PERIOD 1 AUGUST 17 THROUGH NOVEMBER 9, 2023, FOR RATE SPECIFIED: (10-2210-0000-1341-564-4)

Allen, Lisa	1.00 Stipend	\$308.00
Baldin, Jennifer	1.00 Stipend	217.00
Borders, Ashley	1.00 Stipend	350.00
Bremer, Traci	1.00 Stipend	350.00
Bryant, Sydney	1.00 Stipend	350.00
Burke, Evan	1.00 Stipend	203.00
Cantrell, Kenda	1.00 Stipend	350.00
Capranica, Amy	1.00 Stipend	350.00
Cox, Heather	1.00 Stipend	108.50
Dabbs, Kathryn	1.00 Stipend	241.50
Doss, Jessica	1.00 Stipend	189.00
Edmonds, Meghan	1.00 Stipend	322.00
Edwards, Joshua	1.00 Stipend	21.00
Friday, Jessica	1.00 Stipend	203.00
George, Cynthia	1.00 Stipend	322.00
Godefroid, Amie	1.00 Stipend	350.00
Graham, Brianna	1.00 Stipend	350.00
Grieme, Nathan	1.00 Stipend	154.00
Guikema, Lindsay	1.00 Stipend	297.50
Hays, Robyn	1.00 Stipend	108.50
Holler, Melinda	1.00 Stipend	308.00
Lafountain, Taunja	1.00 Stipend	350.00
Logsdon, Alicia	1.00 Stipend	189.00
Love, Brenna	1.00 Stipend	350.00
Mcdowell, Toni	1.00 Stipend	14.00
Mead, Nena	1.00 Stipend	175.00
Mitchell, Shanna	1.00 Stipend	350.00
Osowski, Emily	1.00 Stipend	108.50
Perry, Whitney	1.00 Stipend	350.00
Poss, Nichole	1.00 Stipend	350.00
Rake-Davis, Christine	1.00 Stipend	350.00
Roher, Kortney	1.00 Stipend	350.00
Tarvin, Kandace	1.00 Stipend	350.00
Tonstad, Laura	1.00 Stipend	304.50
Vogel, Carolyn	1.00 Stipend	133.00
Williams, Kauntessa	1.00 Stipend	59.50

XXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION APP CREATORS PROJECT LEAD THE WAY CORE TRAINING AUGUST 16 THROUGH OCTOBER 25, 2023, \$35.57 PER HOUR, 40 HOURS FOR A TOTAL OF \$1,422.80: (10-2210-0000-1341-564-4)

Kulavic, Tara

XXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION CLEARMATH TRAINING AUGUST 14 THROUGH AUGUST 15, 2023, \$33.88 PER HOUR, 10.5 HOURS FOR A TOTAL OF \$355.74 EACH: (10-2210-0000-1341-564-4)

Bryant, Patty

Durbin, Lori

XXIX RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR STUDENT SUPPORT SERVICES NOVEMBER MEDICAID BILLING ACTIVITIES NOVEMBER 17, 2023, \$45.39 PER HOUR, .75 HOURS FOR A TOTAL OF \$34.04: (10-2210-6220-1165-000-0)

Blakley, Jennifer

XXX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES NOVEMBER MEDICAID BILLING ACTIVITIES NOVEMBER 1 THROUGH DECEMBER 4, 2023, FOR RATE SPECIFIED: (10-2210-6220-1342-000-0)

Bramblett, Rebecca	5.00 hours	\$70.42 Per Hour	\$352.10
Dwyer, Stephen	2.00 hours	\$64.98 Per Hour	129.96
Green, Allison	1.00 hours	\$72.55 Per Hour	72.55
Schmitt, Sara	1.00 hours	\$56.52 Per Hour	56.52